F24-Wire Harness - Electrical
[image: image1.emf]
	   F24-1 
	6.000.118
	HARNESS. WIRE 

	   F24-2 
	6.000.119
	SOCKET COMP. 

	   F24-3 
	7.010.038
	SWITCH PANEL COVER. 

	   F24-4 
	9.600.615
	SCREW. PAN M6x15 

	   F24-5 
	9.300.006
	WASHER 6 

	   F24-6 
	9.210.005
	LOCK NYLON NUT M6

	   F24-7 
	6.000.158
	IGNITION START SWITCH 

	   F24-8 
	6.000.159
	ENGING STOP BUTTON 

	   F24-9 
	6.000.160
	SWITCH UNIT. DIMMER

	   F24-10 
	9.100.620
	BOLT M6X20 

	   F24-11 
	9.210.006
	LOCK NYLON NUT M6 

	   F24-12 
	6.000.124
	RECTIFIER COMP. REGULATE 

	   F24-13 
	6.000.125
	UNIT COMP. C.D.I. 

	   F24-14 
	6.000.035
	STARTING RELAY 

	   F24-15 
	9.600.525
	SCREW. PAN M5X25 

	   F24-16 
	9.600.410
	SCREW. PAN M4x10 

	   F24-17 
	9.210.004
	LOCK NYLON NUT M4 

	   F24-18 
	6.000.038
	RESISTOR COMP 10W 10 

	   F24-19 
	6.000.126
	COIL COMP. IGNITION 

	   F24-20 
	6.000.113
	SWITCH UNIT. WINKER

	   F24-21 
	6.000.072
	CONTROL RELAY 

	   F24-22 
	6.000.079
	HORN SWITCH

	   F24-23 
	6.000.087
	POWER OUTLET

	   F24-24 
	7.020.051
	POWER OUTLET COVER 

	   F24-25 
	6.000.153
	RELAY COMP. AUDDIBLE PILOT & WINKER

	   F24-26 
	6.000.161
	DIODE

	   F24-1 
	6.000.227
	Wire Harness (WL001)

	   F24-7 
	6.000.219
	Ignition Start Switch (WL001)

	   F24-8 
	6.000.220
	Engine Stop Button (WL001)


